. Example — wavelength selection
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' Example — wavelength

selection

Parameters ky ky k. k3 ky

Upper bound 10 100 10 50 150

- Value 3.46252x10 | 61.5544 | 2.36893 | 4.04948 150
‘ U S I n g M S C + S G Variance 2.14x10° 12.78 | 3.15x10° | 6.74x10* [ 3.85x10~
Standard Deviation 1.46x10™ 3.57 1.77x10™ | 2.60x10 | 1.96x10~
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Using entire spectra




" Example — wavelength selection

Parameters ky ky k. k3 ky
Upper bound 10 150 10 50 150
. Value 3.46445x10% | 96.0931 | 4.17568 | 4.12065 150
‘ USlng MSC + SG Variance 2.17x10" | 1.67x107 | 6.17x10" | 2.27x10° | 6.00x107"
Standard Deviation 1.47x10° | 4.08x10° | 7.85x10™* | 1.51x10° | 2.45x10™
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Using NLP to select channels
| Reduction in LOF of 66%.
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Example

— wavelength selection
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